Find the perimeter of each fidur below.
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Perimeter.

Find the perimeter of each figure below.

8m
You find the perimeter by adding all the lengths of the sides.
5m Add the lengths of the sides:
5m 8m+5m+8m+5m=26m
8m (So, the perimeter is 26 m)

You find the perimeter by adding all the lengths of the sides.

7m 9m Add the lengths of the sides:
IM+9m+7m=25m

9m (So, the perimeter is 25 m)

3in
Qin 9in You find the perimeter by adding all the lengths of the sides.
Add the lengths of the sides :
3in+9in+9in+10in = 31in

10in
(So, the perimeter is 31in )
7 ft
20ft You find the perimeter by adding all the lengths of the sides.
8 ft Add the lengths of the sides :
7ft+23ft+8ft+20ft =58 ft
23 ft

(So, the perimeter is 58 ft)
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